o 5 hopE = — E£ o "
FOORIEMR SEFRIIAELBRR KRS RBEHZR —EXR FSusEHE B OBA
ER30FEIA1R SmRERR—YE 4—kE L3RS BrEEE IR CIRE-V/8
B F BTEBUE B BA
AE| # B |AE 1 2fn st afr 5 6 7 8l
K&/FiE AR K% /FiE ACER K% /FE FCER K% /P& FCER K% /FiE FRE% K% /FiE FRE% K% /FiE FRE% K% /FE FRE%
9/1 100m | +11 HE Bz Q) 11720 [BERK K—(Q2) 11729 /b % (2) 11749 |B#E #£3(2) 11766 (R £2Z2) 11772 [FEAXR RKQ) 11773 |deE FEWD) 11789 |F% & Q) 12726
C|hEA A& |Tus S8=32A A5 a9 S8=32A aA5E AER
9/1 200m | +0.1 KX K—® 22788 |&tE BB () 23700 |Bi #£3(2) 23731 |2 KB Q@ 23737 [/hML R (Q2) 23763 [ FED) 25704 |FH HmEQ) 25730 |HiE #8(2) 25741
C|haa Mg A5 S8=32A A=A aA5E S8ER 8%
9/1| 400m BE #FQ 50”753 (E#E B () 51733 [BAX &EZ Q) 54735 (AR# &) 57724 (K& BEQ 58748 [#)Il FE (2) 58”72 (R (1) 58”78 TE,ﬁ REM 100"
A=A Mg Ay I S8ER KA I A=A
o/1| soom TH AHEA) 20278 | K& (2) 20577 |ER EFEQ) 206%28 |[@AK $RE) 207’20 (BTE  Hi5E (2) 20723 & RE Q) 21675 [#EI HEE (2) 217795 B‘IEEE |MEQ) 2181
Mg I Mg S8=32A a5 A=A KA a85%
9/1| 1500m W (2) Y1282 | KB EBEQ) v [sLtE —& M) 20700 [#E #HK(A) 32747 |[REA Fi#E (1) vaes (@I HEEK (1) 133715 [INE #BEE (2) v37710 |[BAE RQ) 438794
hIR 8=ZA A=A Mg 5 aA5E I S8ER
9/1| 5000m m: ) 16°06"92 [EH KE(Q) 16'18796 [Pk EER(2) 1620736 [FRA 44 (1) 1659708 [EIE  HAL (2) s |EHFH O BKRA) 18706%91 MR 33 (2) 181978 @ @ws) 1844795
oA} ABE B=ZA ABE I 8% AER
9/1| 110mH | +0.1 JIIEYE KEQ@ 17735 [FE 28O 18745 [fEH# BEK() 19740 [BiF BEEQ) 20755 | KM 3% (1) 21701
C|B=EH AER A=A a8 a85%
9/1| 400mH KB K£Q2) 56775 |fEAX EK() rosor [BTE  EBiZE (2) roeas (K& HEQ) rorvos [JeA EEK (1) 115756
A=FH P31 A=#H A% AER AT
9/1| 3000sC nim BRQ 10001755 [FA  FiEE (2) 10004780 [JIldm 1K (2) 1006743 [E3 %%E(Z) 1034747 [JA AR (1) 103885 | BRI} (1) 1045%89 [/INE  BHE(Q2) 1049701 [ER  FEF(2) 11739769
85 Mg A=ZA AR 8 Mg I a=#MA
ER #MQ 24" 15763
9/1| 5000mW EZm P
5=2M@ 44707 B8 46794 |BFE 48713 [T 53768
ML R(©2) BB HEQ FT HikE 1) Ak EBXAO)
9/1 | 4x100mR i KREQ KE \E 1) WR EZ(2) AT W)
R RKQ dtE FEM KA HE) REFR F# (1)
#EH HFQ B £3 2 B #x0) #wh EEQ0)
i 2 324736 |B=EMH 324786 |BEE 34472 |[& 345714 | BEEE 355727 [BEE 357745 |EH 105799 [ EE 112754
HE BEQ K& |NA EEQ O XKEFH  |§TA HEQ K& R0 WE ££2Q2) o #1EQ2) HE #XQ2 Ba 41:.(2)
9/1 | 4x400mR X K—2 KEH K22 S £3(2) 8 K&Q) RE Fi#EA) K HQ) I MEQ) wm ZsW0)
AR Rz ) i KRQ@ ERX H#i 2 RE2 @) HT MBS () Bl ZEXQ HwH HEQ) wx e 2
=ig BN 1) #H EFQ) ik EEQ) BRE  K#E (2) DY THER (2) BiF Q) B8 BAQ = =
o/1| EEHk wa BEQ m65 [E# KEQ) m60 |&F E—ER() 1m0 |KEHFEF Fi#(O)  1m35
= A a=A A=ZA AT
91| HEk
o/1| EiEmk IEREEEA) 6m55 (B K#E(2) 6mi6 |HEF EEAN (1) sm82 |&F IE—ER(1)  5m69 [WER AE(Q2) 5m30 (X% BRE (1) 5m28  |BEE (1) 5m28 [KE HE(1) 4md4
= S=ZA +0.2 s +0.2 Mg +0.3 A=A -0.3 Y -0.1 I +1.2 s% +0. 4 5 +0.3
o/1| =EEok EEIESAO) 12m78 [JIFHFE XK&EQ) 12md6 |[EAR BENA) 12m27 [JIIE BEfR (2) 12m20 [/h#Y THER (2) 9m87
- I +0.6 S8=%HA -0.1 g +0.3 A=A -0.3 5 +0.9
o/1| mnE FZK EEZ’T(D 8m32 #&ZK ?D‘iE(Z) 8m29 |EHA BA() 8m26  [/hER M (1) 8ml4 g_nlﬁ Rt (2) mo6 | RIK(1) 6m93 |BEE HAH () 6ms6 |BRE BAX) 6m71
iz kv I I HHA A=A S 5
o/1| mugE I ﬂniﬂ) 26m38 7}@? 1Y 25mp4 |EA BEX() 24m46  |ER FEFF(2) 2im42 |18 RE () 16m45
I S8=3ZA I B=2H Mg
0/1 |1ov—ig FER RKQ 20m37 |HIE RE(2) 18m55 |[LE  HEE() 10m97 E RIE() 10m53 [/ A Q) 10m45
5 A=A Mg Mg =Z| a8
o/1| BYm EA mZA()  39n36 [ R#E(Q) 3bm95 [EA BN () 28m81 azs wEM 26mdd (gt FF (1) 26m25
> s HEA A8ER A=A A=A




560[E 5

MRS FFRFAE LHBAE

iR B

0 #% —

EX

FouvoBEHIR BT BA
ER30FEIA1R SEHRERR—Y e 5—lE LFEEIS BrEEE IR CIRE-V/8
xF BTEBUE B BA
RE| B B |m& ik 201 S _ 4% 5% 6 75 8
K&/FE AR K4 /FiE L8R K4 /FiE ACER K4&/FE FCER K4&/FE FCER K&/FiE FRE% K&/FiE FRE% K&/FiE FRE%
9/1 100 +0.9 B &7 1) 13758 |HER RIE(2) 13768 |[=K BHEQ) 13781 |&HHE E&H1) 13784 |#& FE&EFO) 14707 (&% %E8&Q) 14730 [T HWEQ) 14742 |hE BIEQ) 14767
m Clhxs B=32@ B=z@ s EER £ 15 &
o/1| 200 o7 |HE_ERQ 27794 |HE FED 28723 |8t &KEQ) 28736 |=K BARQ) 28786 |& FEZF) 29”775 [T HWEQ) 30712
m a=gm s s B=32@ SER 15
o/1| 400 mzs Ek(2) roios (@@t KEQ) ros'oo [3EE REFQ) rosez [MAAR EE(®) 109746
m B=EM hva=Y fihva=Y B=EME
9/1 300m P’J‘? w2 (2) 216784 A Ffm (1) 22722 |HEE Fa(A) 221701 |RAR #Ex1) 2337 [IUT ZBEAO) 2 [BEF #£Q) 245795 |&EH HPA) 259793
S=32A Kfgh  |Has Mg a5 S8=32A I a85%
o/1| 1500 \H e (1) 155760 [T Fdn (1) 156763 |[/NE &K () 5066 (LT ZEMEA) 51361 [2H Q) 524769 [&HF RHEQ) 54672
m B=@ AV s B=#H 15 15
9/1| 3000 10704764 ia# B{E (1) s |FE BEd) 1039749 |/INE &K (2) wie |FHF RWEQ) 127231 [HEN REE() 1351797
m = A& [B=izA Hae e A arx
9/1| 100mH |+0.4 %?ng Bx@ 17703 iiﬁliaa’r\m 19755 ‘Eg ES30) 19783 x@ﬁi@m 22776
riEE BxQ e |ER OBIRA) Ui BN & (2) Uiz |EEE T () 120722
9/1| 400mH HIE a=#m B=iem s
9/1| s000W ﬁi;‘iﬁﬁ @) 32" 16788
=Y 52762 |(B=iZHA 52765 [E7g 59”47
HAE EE) AR X{EQ hE BEQ)
9/1 | 4x100mR B &7 (1) =K BRO HE X502
wiEm FE0) A Fk(2) A #EE®0)
Bt REQ) A HE Q) % BAB)
WMis 424761
Bt REQ)
9/1 | 4x400mR AR Ein Q)
®’/E m=c0)
& FEW
o/1| E=k wim FEW) m23 WA EE0) m20 |hE BIEQ) m20 |#ERE T4 1) Im20 |®kA #EF1) 1m20
= mirs a=3zmA 8 2 HiZE 8%
o1 | xiEEk #H R&EFQ 113 [HwRE R (1) 4ml2  [FEE E(A) 3m90 [ KuF A& (1) 3m69
= Mg -0. 4|1 +2. 2K B +1.2|B=2E -0.1
- wE K1) 8m65 |FE E() Tm99 [GEEE T
1| =Hk I +0.2|Hky B 0.4|®
o/1| mniz % BB 6m22 AR FK3E(2) sm69 |[HHE E®(A) 5m54 B RAED) 2 (K& XAQ) 5mi2  [HBAR L (2) 4mo8  |HENII SREBE (1) 4m93
> 57 g3 A} #®HA a=32[A mia 8
o/1| ez R HEZE(2) 17Tm03  |[FR HEQ) 14m35 |8 FREQ) 13067 [EHFR EFQ 11m22 [%B D2 (2) 9m97
= B=ZMA Bk B HE s HIe
9/1 |1 v—ig EEEE% 2) 14m90 %;\;‘?E&%E (2) 12m13 *;Z_El:&t%m 10m51
o] ey A & () 26m30 |[HEEHF BEFI) 23m54 |BEEH BB 20m92 (R HiEQ2) 1om31 |HEE FEIEQ) 16m56 |FH DE(Q) 4m56 |FAE BE) 12m14
> B=zMA EKy B B EKy B B=2M@ iiods g
BF M= XFARE
BEDE A Z14—IVEDER BEDE rS9 DER Z14—ILEDER
1. BA=E@E 1898 1 B=EA 11258 1M B=3EA TR 16 WA 170 1L B=EE 1194 1M HiIIE 65:
24 WA 1558 2ff iR 103% 20 WIME 52 2 B=EME 163m 2 WA 1051 2 B=EFEME MH
M K T& M AEFE 70K 3 IR 45m 3 BE 468 Mz EE 21&E i FKrE 32K
AL AEE 70 Ay [ 26 My B 16| Ay JE 34& AR TR 198 Ay AFE 25m
56 S@EE 328 5 BE[R 24: 5 HHE 1= 561 FKsE 32& 5 BFER 8m 541 Ji 158
61 AER 30= 66 RE%E 22& 66 HE%E 10K 6z HHE 11= 6 BT 3= 66 HHA 115




